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empty-stack-applicative : stack
push-stack-applicative : stack x element — stack
is-empty?-stack-applicative : stack — bool
pop-stack-applicative : stack — element X stack
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empty-stack-imperative : unit — stack
push-stack-imperative : stack x element — unit
is-empty?-stack-imperative : stack — bool
pop-stack-imperative : stack — element
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(define (empty-stack-imperative) (cons ’stack ’bottom))
(define (push-stack-imperative s x)
(let ((cell (coms x ())))
(begin (set-cdr! cell (cdr s)) (set-cdr! s cell))
)
(define (is-empty?-stack-imperative s) <77>)
(define (pop-stack-imperative s)
(if (is-empty?-stack-imperative s) (error "stack is empty")
(let ((top <?77>))
(begin (set-cdr! s <?77>) top)
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(define empty-stk-app empty-stack-applicative)
(define stk-app (push-stack-applicative empty-stk-app 5))
(is-empty?-stack-applicative stk-app)
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(define pair (pop-stack-applicative stk-app))
(define elmt (car pair))

elmt

5

(is-empty?-stack-applicative (cdr pair))

#t

(newline)

(define stk-imp (empty-stack-imperative))
(push-stack-imperative stk-imp 5)
(is-empty?-stack-imperative stk-app)

#f

(define elmt (pop-stack-imperative stk-imp))
elmt

5

(is-empty?-stack-imperative stk-imp)
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empty-queue : queue
insert-queue : queue * element — queue
is-empty?-queue : queue — bool
delete-queue : queue — element X queue
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(define queue (insert-queue (insert-queue empty-queue 5) 7))
(define elm-queue (delete-queue queue))

(car elm-queue)
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(define queue2 (cdr elm-queue))

(define elm-queue2 (delete-queue queue2))

(car elm-queue2)
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(is-empty?-queue (cdr elm-queue2))

#t
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(define (queens bs)
(define (queen-cols k)
(if =k 0
(1ist empty-b)
(filter
(lambda (p) (safe? p))
(accumulate append
null
(map <?7>
(queen-cols (- k 1)))))))
(queen-cols bs))
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(adjoin-position new-row k rest-of-queens)
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